EARAROBEEIERT — 2 N— IBISH —F

201742R12H (H) 16E=H1H

m C2—2 C2 ¥5%—fH% ‘ [X12] # ‘ [eEmsh]l  — | & (B) 1400M &=
[A&4£] 1% :300,000" ~ 23#%&:75000M”  33%&:38,000M  47&:22,000H .~ 57&:15,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
NI ERFHR :32. —5-5- . — 2E— (BH)
11| 71Fr>Ny b H 5 ERRs 1(3_2)0 5-5-5-3 | 39.5 2 (4_723; ‘%#%f@&
RiF A HE - BivyF—FUILR =H =88
N N =MEAX :32. =)= . — REELEHL (FH)
2 6 XL GF o — LR 4 4 =0 1(73%:; 2-2-2-1 | 40.0 1 (5:)52) A
R:TIATLREA L B4 TX 0T A
> i 5 | BIIX 1:32.4 4-4-3-2 | 40.1| — 3 469 | ITHER (ZH)
3 4| ¥av/Fl)— 54.0 1 1/2) () | EEfTX
LYK YTYRIR B:Yay/AERT =5
$ /) = 4 6 | FHEEL 1:32.4 7-7-7-5 | 39.2| — 4 468 | BT (SH)
4 3| AN/ IR 56.0 (7€) (1) |FHEXT
LiN—=YT54 B:IRLvy b Y+ A T8
N oA A — 4 7 | LEFF 1:33.1 1-1-1-4 | 41.2] — 6 492 | BAAKREE (B
5177|721y 7RN1Y 6.0 ® (| FIBELE
L7 RYA YT w/8> B:7Yavd—R KEHS
S = AKX :33. ~6-6- . = FRA (ZH)
6155 T AAEZ v % % 5 i?sa.o 1(3:;3)8 6-6-6-7 | 41.0 7 (4_019) oy
I TFE274 B:I7ANTAv IR 2E—RK77—L
= 4 R BRER : 34— — RAR— (ZH)
7 0| 5HTT 1> it 4 e 1.(3:).6 3-3-4-6 | 42.2 5 (4_721) ;E%
L:vrs07oq4 BiITIY K- HET 7 — L
® I —F—EBIERL
13=7r= 7,6,2,4,1,5,3
2a|=7r= 7,6,2,4,1,5,3
Jol=5r= 7,6,4,2,1,5,3
40—+ — 6,4,1,7,3,2,5
[ N3
BB 1 350H 714K 1-6 140H B = 1-6 260M 3EHE 1-4-6 360M
8 B 1 1509 1-4 200M B H 1-6 760M K31 1-6-4 2,260
6 140/ 4-6 170

ABICOVWTRDTEEERROODE. TR LIV,




